Chapter 23:  Correct answers
1D
Total value of business inventories.

2C
Recipients of transfer payments have not produced or supplied goods and services in exchange for these payments.

3A
An American teacher employed to teach English to French children in France.

4D
I, II, IV, and V.
5A
GDP does not account for illegal activity or “shadow” markets. Legalizing these markets would add to the official GDP numbers. The statement is true. 

6E
A European family builds a new home in Raleigh, NC.
7A
An American consumer buys a new Volkswagen made in Chattanooga, TN.

8C

The U.S. government provides lunch for some students.

9C
Exports.

10A
Imports.

11E
Nominal GDP, if the overall level of prices is unchanged.

12E
All of the above are excluded from GDP.
13C
5 percent.

14D

GDP deflator.
15A
Because the car was already counted when it was first purchased and nothing new is produced.

